
# Product picture Part Category Part Name Part 
Specification QTY.

1 Mechanical structural parts Rectangle Plate 11×15hole 1

2 Mechanical structural parts Rectangle Plate 11×13hole 1

3 Mechanical structural parts U-Bracket 11×4×4hole 1

4 Mechanical structural parts Angular Plate 3×2/4×2/3×2hol
e 2

5 Mechanical structural parts Angular Plate 7×2/3×2hole 2

6 Mechanical structural parts Triangle Plate 3×5hole 2

7 Mechanical structural parts Triangle L-Bracket 3×3hole 2

8 Mechanical structural parts Square Beam-3hole / 1

9 Mechanical structural parts Square Beam-10hole / 1

10 Mechanical structural parts Square Beam-6hole / 1

11 Mechanical structural parts Plastic Spacer 16×7×4mm 20



12 Mechanical structural parts Plastic Spacer  6.5×4×3mm 30

13 Structural Parts Bearing 4×9×4mm 2

14 Mechanical decorative parts U- Big Bracket / 1

15 Mechanical decorative parts Tail Bracket / 1

16 Mechanical decorative parts Front Big Baffle / 1

17 Mechanical decorative parts Front Small Baffle / 1

18 Mechanical decorative parts Bending Baffle-B / 1

19 Mechanical decorative parts Bending Baffle-A / 1

20 Mechanical decorative parts U-Type Small Bracket / 1

21 Mechanical decorative parts Handshape Plate / 2

22 Electronic Part Ultrasonic Sensor / 1



23 Electronic Part  Encoder Motor 520 1

24 Electronic Part LED Matrix 14×10 1

25 Electronic Part Encoder Cotor Cable / 2

26 Electronic Part RJ 11 Cable-110mm / 1

27 Electronic Part RJ 11 Cable-180mm / 1

28 Electronic Part USB Cable-1m / 1

29 Electronic Part Qmind  plus  main  Control 
board / 1

30 Hardware&Tools Screwdriver / 1

31 Hardware&Tools Wrench / 1

32 Hardware&Tools Screw M4×42mm 10

33 Hardware&Tools Screw M4×30mm 10

34 Hardware&Tools Screw M4×20mm 10



35 Hardware&Tools Screw M4×15mm 10

36 Hardware&Tools Screw M4×9mm 10

37 Hardware&Tools Screw M3×8mm 10

38 Hardware&Tools Nut M4 / 20

39 Hardware&Tools Lock nut M4 / 10

40 Wheel Tyre 75×25mm 2

41 Wheel Driven Wheel 56×25mm 2

42 Wheel Drving Wheel 56×34.2mm 2

43 Wheel Ball Caster / 1

44 Conveyor belt Track 136×30mm 2

45 Other part Battery Holder / 1


